Table S1 Clinical-chemical parameters of ADAR2 ko (ko) and control (ct) mice. Data are
represented by their mean values + standard error of mean

Clinical-chemical parameters, 1% sample

ct (A) ko (B) A~B A~B ANOVA
male | female male female male | female g:eng- sex
Parameter yp
(n=10) (n=9) (n=9) (n=10) | p-value | p-value | p-value | p-value
. 148.8 148.0 147 1 146.6
sodium [mmol/l] +085 | +058 +111 + 052 n.s. n.s. n.s. n.s.
. 5.42 3.96 4.31 3.96
potassium [mmol/l] + 151 +015 + 011 +0.12 n.s. n.s. n.s. n.s.
calcium [mmol/l] +262§1 +26282 +2('J131 +2('J131 p<0.05 n.s. n.s. n.s.
chloride [mmol/l] :(zﬁoﬁ :(())96?3 :%57% :%752 n.s. n.s. n.s. p<0.01
inorg. phosphorus 1.62 1.44 1.40 1.36 n.s n.s n.s n.s
[mmol/1] +0.09 | £0.10 +0.06 +0.08 T T T "
total protein [g/dI] +561§7 +5(')0§9 +4(')858 +4(')8§6 p<0.05 n.s. p<0.05 n.s.
albumin [g/dI] +264§4 +2(')6g4 +26336 +2(')685 n.s. n.s. n.s. p<0.001
. 0.11 0.12 0.77 0.11
creatinine [mg/dI] +0013 | +0008 | +0.005 +0.005 n.s. n.s. n.s. n.s.
69.0 65.3 63.0 66.4
urea [mg/dI] +334 | +205 +317 +999 n.s. n.s. n.s. n.s.
Cholesterol [mg/dI] :%132 +9§.g’8 :159175 +9; .gg n.s. n.s. n.s. p<0.001
triglycerides [mg/dl] +128123 +9648 +115842 +8799 n.s. n.s. n.s. p<0.001
non-esterified fatty 0.67 0.98 0.77 1.10
acid [mmol/l] £0.043 | +0036 | +0018 | 0071 | ™S | ™S | p<0.05 | p<0.001
190 221 210 207
LDH [U/l] +923 +215 + 9235 +16.8 n.s. n.s. n.s. n.s.
alanin- 208 | 302 | 208 25.0
aminotransferase 118 + 41 +29 +13 n.s. n.s. n.s. n.s.
[U/1] 1. t4. + 2. 1.
Aspartate- 476 | 59.1 48.4 65.2
aminotransferase +16 +58 +28 +592 n.s. n.s. n.s. p<0.01
[U/1] 1. t 5. + 2. + 5.
alkaline 76.4 130.0 93.6 136.4 n.s n.s n.s <0.001
phosphatase [U/I] +8.2 6.3 +5.0 +44 e e e p=B.
558 617 579 614
a-amylase [U/l] +937 | +378 +408 +33.7 n.s. n.s. n.s. n.s.
glucose [mg/dl] 3842 +2384 +1§58 +119126 p<0.01 n.s. p<0.01 p<0.05
o 22.1 23.8 23.2 24.8
ferritin [ng/ml] +19 14 +17 +20 n.s. n.s. n.s. n.s.
. 136.8 133.2 138.1 133.7
transferrin [mg/dI] +929 +15 +39 +15 n.s. n.s. n.s. n.s.
iron [ug/dli] fgg 116?2 fié 13; g n.s. n.s. n.s. p<0.001




Clinical-chemical parameters, 2"® blood sample of 17 week old mice

. 2.18 2.15 2.14 2.16
calcium [mmol/l] +0.02 +0.02 +0.02 +0.01 n.s. n.s. n.s. n.s.
inorg. phosphorus 1.68 1.42 1.40 1.49
[mmoll] £0.08 | 006 | +008 | o007 |P<0-05| ns. | ns. n.s.
total protein [g/dI] +563g7 +561g6 +5(')089 +560(?6 p<0.01 n.s. p<0.01 n.s.
albumin [g/dI] %‘.%35* %‘_‘(‘)%; i%‘_%is i%‘_‘(‘)%s p<0.01 | n.s. | p<0.05 | p<0.05
cholesterol [mg/di] 1+2gg 35455 12154 371% n.s. n.s. n.s. p<0.001
triglycerides [mg/dl] +117813 +8888 +119958 +9991 n.s. n.s. n.s. p<0.001
alkaline 78.4 1322+ 83.6 131.3 n.s n.s n.s <0.001
phosphatase [U/l] +35 4.5 +6.4 +58 e e e p=b.
glucose [mg/dl] 12?0 11171%3 1117014 ;260 p<0.01 n.s. p<0.01 p<0.01
Blood lipid and glucose values of fasted mice
cholesterol [mg/di] :108% 1 910314 * 1468.799 : %40?; n.s. n.s. n.s. p<0.001
triglycerides [mg/dl] +8900 +7458 +7461 +6306 n.s. p<0.05 n.s. n.s.
non-esterified fatty 0.73 0.95 0.73 0.90 n.s n.s n.s <0.01
acid [mmol/I] +0.044 | £0.057 | +0.049 +0.071 e e e p<E.
Glucose [mg/dl] +118797 +115863 +127338 +116623 n.s. n.s. n.s. n.s.
Hematological parameters, 1% blood sample
white blood cell 6.0 6.2 55 4.4
count [10%/pl] +056 | +053 | +037 | o038 | ™S |P<0.05 ) p<0.05 ) ns.
red blood cell count 9.9 9.9 9.7 10.1 n.s n.s n.s n.s
[10%/p1] +0.12 | £0.14 +0.13 + 0.06 e e e e
platelet count 1055 884 1010 862
[10%/p] + 59 +18 + 41 +133 n.s. n.s. n.s. p<0.001
hemoglobin [g/dI] +13'159 +1(L)L§4 14622 +1(£)-).100 n.s. n.s. n.s. p<0.05
. 45.7 45.3 447 46.4
hematocrit [%)] +067 | +075 +0.58 + 0.40 n.s. n.s. n.s. n.s.
mean corpuscular 46.1 45.8 46.2 46.0 n.s n.s n.s n.s
volume [fl] +0.23 | £0.32 +0.22 +0.21 = = = =
mean corpuscular 14.6 14.8 14.7 14.9 n.s n.s n.s <0.05
hemoglobin [pg] +0.06 | £0.11 +0.12 +0.09 e e e p=X.
mean corpuscular
hemoglobin +3(; '162 +3§'134 +3(: '174 +3§'§0 n.s. n.s. n.s. p<0.001
concentration [g/dl] | ~ - - -
red blood cell
P . 14.5 14.2 14.5 141
distribution width n.s. n.s. n.s. p<0.05
[% of MCV] +0.11 +0.10 +0.24 +0.10
mean platelet 54 5.1 54 5.1 n.s n.s n.s <0.01
volume [fl] +0.16 +0.05 +0.07 +0.05 e e e p=X.




